147

BR
AW EHR & E
e m®) —RES HE)
B oL F £ HOKYHEER AfLE 54128148
| BHISEE
= k4 £ ;‘%:&HELJO)%{E%% THERESHEERIS
A B m O E F £
1 (B)EMLE (3] 2 BAEBMIE R €31
3 (B)IL—5Es% €219 4 (#)T—PLAN
5 (B)avT/( 8% 6 (LLE5E)
7 8 -
9 10
11 12
13 14
O £ #FH £ |(KRIVTJ(ER
TRMECGEBBAS) —2 5,016,000 Mk
#l 1
@l
BAME(EERAA) —% 4,609,000 =1 #
-2 £ T HA SH54E12822H ~ SH6E2H298
- =] -2 4,190,000 H
A2
GHERD .
=K —% 4,190,000 o]
EEBE

CITEER L=133m

-$BHI T (t=200) A=532m2
SPRAE T (1=150) A=532m2
-FE T (t=50) A=532m2







143

B
A REHK&HFE
— S )
H oY R £ HOYHER AfLE £f5%E12A4R8
SHSEE
=3 ¥ 4 |FE215EHRBEEETE
A W B W O E FH £
1| (k) tEEREsE 2 (%) FRIBEE
3 () EMTIEIE 4 (B)EMLE €5315))
5 BAREMIE @) €5315)) 6 (B|)IL—8%
7 (¥R) T—PLAN 8 #R)arTA8E%
9 (Ll k8#E) 10
11 12
13 14 5
% H % T £ |(BWL—ESR
TEME (EERAH) —% 9,493,000 At A
il
EHMECGEERAH) —& 8,459,000 [aFick #
-2} # I -1 SHMSE12H128 ~ £SH64E3A15H
me=E > —% 8,620,000 M
AfLE5
GHERA)
: 53 i%:] -2 7,690,000 M
EEHE

CIEERE L=229.6m

XEHIT 1K

“FEBI (t=50) A=1064.1m2
SFEEET A=1064.1m2




SULTHRITS

RS-

pY

20235110028

Enf E

2300

1

e

10 20 30 40 s 8y

2015103 O




144

A #HBHKRSEE
(GBS —MRESE HE)
B oLy B £ HOCYHEES A#H SH54FE12H6H
SHISEE
=4 E S % |HTE2235HRSHERMIEISTN2
AL B Mo 2 B £
1 (A EMLIE [#:R]) 2 BREMITZE ) [E2:E]
3 (B)W—&% 4 () T—PLAN
5 ()Y TAEH 6 |(LlE5E)
7 8
9 10
11 12
13 14
2 L ¥ #F 4 |BWavTaER
P EMBCHEBAH) —% 7,051,000 Mt
| A ]
=]
FALME(GHEBRAA) —2 6,270,000 M )
2 % T £ S 54128148 ~ SHeE2H168
B —2 5,700,000 M
AfL &%
GHERAD :
&IK%E —% 5,700,000 A
EERE

-IEER L=2166m
-EEEERT (1=50) A=443.2m?2
CEEHAERIE A=434.6m2

- S EEHRET (1=30) A=147.6m2
~SEERAPERRIE A=147.6m2
XEHLT 1X




2023711 B06H

BRI

: 1500

10

1

HER

s O



143

B
: ANEERBSE S
(sa#md —BEHEE-ER)
BH o F A HOKYHEER AB S 54E128118
: SHISEE
- 4 |ETREEMEISE
A B M ¥ F £
1 (A)EMLE 2 BAEMITE W) [#E]
3 (B)IL—E&*% [#R) 4 (#)T—PLAN €221
5 ()T A2k 6 (LLlE5#&)
7 8
9 10
11 12
13 14
¥ O O E O #F A |((BEMxXg
TEMB GEEHRAM) —% 6,094,000 M
#l 1
[l
ZAIEECGEERAA) —% 5,478,000 A ]
2} # T EA SHIS5E128190 ~ SH6E2H298
SISLE] —% 5,540,000 A
AfLE%EE '
GHEE®RA
=IEEE —& 4,980,000 =
BEME
"BARHET

-EHMHE2048% L=77Tm A=269m2
CEHHEBE24225% L=140m A=560m2
-HMHEE2747% L=90m A=162m2
EHHEB44605% L=72m A=288m2
CEL696% . L=70m A=126m2




L
Hiaawevaveer

e
““:.“ussw..“-.s

v
------ . O".l".-‘l'l anad
%
4
i
H
: ’, :
&
1" c
e
7,
{4
7y
X e
v

........... ,
Pt =
..... Xl L
%
4‘;
B
)
"I
’ I
/ . e ,

el

-,

HER. 1: 2500

201310850 10 20 30 40 30 B0

1

EnRI B

2023118078



2023511 A07E

FIRIB

: 2500

n
#ErR 1
215108 6 10 2 3 db 0 &)
)




g

fu & B
s
©

*wm

"a

=4

~

| D—

s

3stanmnatss

=2szcastans

TR—
11

LR |

Stz

arraanagazy s e

e

202311 R07H

EnRI B

2300

B8R 1

2015105 O

10 20 30 40 0 &0




146

- S IRABIE X RERAR N=CRE#R

-IRH S 1=0.103km
EESTE A=218m2

A#EEHEE
(sasHs) —NmB%E -HEE)
# Y F £ BOKYHEESR AfLH 454128148
SHISEE
= % % |[ERAREEEBERI
A K B WM O£ B A
1 RN ' 2 (BR)WILRI=ERE [FR]
3 W= FESRE (B €:31)! 4 (L E33E)
5 6
7 8
9 10
11 12
13 14
Z O E F £ [N
TEMEGEERAA) —% 1,595,000 Fth A
' £l 1
fa]
ZIMEGEERAA») —% 1,474,000 M +h, ]
2. 8 T # SM5412821H ~ +M6E3A27R
B 1= o8 —% 1,340,000 /M
AFL&%8 ‘
CHERAD
w=IEEE —% 1,340,000 /M
EEME
EBRERBEESF 1K




148

=
AW#HERBKE E
— R B
B Y K A FREE R A*LB £HS5E12A8H
SHSEE
X ¥ 42 |FREIXGPERGEFAERBRRER
A K 5 m ¥ F £
1 (H) LIk 2 () Hoa—
3 N—RR ) 4 (M) ATHA (&)
5 B —42) (%) 6 (B ERERXE [FR)
7 Ia—547 (%) [E#E] 8
9 10
11 12
13 14
B L O ExE B 4 |(BYLa1—
TEMECEERAA) —% 80,565,100 M A
il
B CGEHBHAHA) —% 71,082,000 A 5t
2 # I # SH6E3A1H SHMOE3/31H
= %8 —& 73,241,000 M
AHL&%E
CHETAD
- | &IE%E —% 64,620,000 M
EEBE

60
-HERH £E178H

BB 530~600BFEE. 1EHY

XA R A RELEESN6E3A1HADSMOE3 A AETEIAT




R
AW HEERKRS
— g% FEE)
BH Y F A ERHBER AfLB  S¥5512H8H
SHSEE
T %2 2 |HEEEIEBR/NERBBEEBRZRITUER
A K B m 2 T £
1 LIk 2 ) Hyoa—
3 IN—ARZ () [F&E]) 4 (BR) ATAR [F3E]
5 |RmEI—5ULY (1) 6 | ERXE
7 Io—547 (#) [E:R] 8 ACA Next(¥g) -
9 |(HL8®E) | 10
11 12
13 14
% f % B & |ACA Next(H)
FTEME CGEERAA) —% 80,901,177 R A
AL TR GEBBAS) — 78,518,000 M %z |
£ b T H SHeE3A1H ~ SHIOFEIA31H
Y] —& 88,800,000 !
PR K
GHERAD
wI{EEE —% 71,380,000 A
EEME

Do

-HAREE% FR187E
BB 500~570BTEE. [=Il~=L|LJ

BR/NERDBEREEEEZSM6EIA1ANOFMOFIANBFTERT

149




15|

B
A EHRE E
(RS —BHEE -HR)
#H oL F £ HOKYHEESE AfLE SHS5E12A198
] STEE
= ¥ 2 (EHEINBHAEREEIE
A B m ¥ #F 4
1 (B EMLE [ER]) 2 BAREMITEGF [#E)
3 #\E)L—gz#% [F:R] 4 (#) T—PLAN
5 (B)aVTA(E%R €331 6 (L E5E)
7 8
9 10
11 12
13 14
% K % £ £ |BT—PLAN
TEMB(GHEBRAHA») —% . 2,992,000 At
#L 1
gl
ZRAME (GEERAA) —% 2,992,000 Atb #
2] # T £ £H5%12A198 ~ SM6E2H29R
3‘%‘%& —& 2,720,000 !
ArL£%E
- GHEBHBRID
=K% —% 2,720,000 M
BEME
CCIEERE L=82m

-ERB T (t=50) A=328m2
-AREEEIE A=328m2




L]
I

: ‘!\1\47‘[')—;{])
[

P A

AN
vy L

AR

#EF 11 5000



